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Decision-making instructions

It is useful to print this document before you start working on your decisions. You should have this
at hand when you start going through the decision-making tool

Home page
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yater time: 211-04 14:
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Your Team Information Deadlind\by system time: z002-11-08 20:26
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when participants e 5|
are from different r
time zones. Team F
can use system Your closest
time to deadline is
communicate Forum Messages given here.
internal deadlines. Your Team Forum Messabes Here you can send
RIS e-mail to the address
Your Course Forum Messdges that your team-
100G GCEEFE members and
L instructor have .
Your team- giv§n when they
members are registered.
listed here.

3(15)



1. Market conditions
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mo - Instructor,
rMarket Outlook for Practice Round

Demand

#ll the three markets are experiencing relatively rapid growth in demand for mobile phones. In the
US4 demand is expected to grow 10% this year, in Asia 20%, and in Europe 15%.

You should Costs
I'ead the market Mo significant changes in costs.
Finance
outlook before
. Exchange rates holding steady at the moment, but same turbulence is in the ai
starting to make
decisions. - -
rParametres for Practice Round A
Transportation Cost per Product {USD) Interest Rates
USA--=Asia 13.00 Premiumn for Short-Term Debt 5.00%
Usa-->Europe 9.00 Prime Long Term
Asia--=Usa 13.00 usa 5.00%
Asia--=Europe 5.00 Asia 9.00%
Feature Cost {USD per feature per product) Europe F.00%
usa 6.00 Interest Rate for Cash
Asia 6.00 usa 1.00%
Europe 6,00 Asia 4,00%
Investment Cost {USD) Europe 2.00%
Usa 140,000 Depreciation {declining balance method)
Asia 160,000 UsA 15.00%
Tariffs per Product {(USD) Asia 15.00%
USh--=Asia 7.00 Tax Rates {Income)
Usa-->Europe 3,00 UsA 35.00%
Asia--=Usa 7.00 Asia 15.00%
Asia--=Europe 3.00 Eurape 30.00%
Currency Exchange Rates Compared to USD
usa 1.00
Asia 0.01
Europe 0.86 11
Administration Cost (USD) Paramete‘rs here are gIVI.Ilg you
use s | information about what is =
Europe 10,000 1 1 1
administration of One Plant (first plant) £,000.00 happenlng m the Operatlng
environment. These parameters are
Face walue of share (USD) 10.00 . .
Minimurn Cash {all areas) (USD) 2,000.00 ah‘eady lnputted mn the model. You
don’t need to input anything.
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2. Demand
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Home Decisions Results Schedule/Tasks Readings Teams Communications
Instructions Decision Checklist ', Market Conditions Demand Marketing Production Logistics R&D Finance Budgets |
1. First I
need to :
estimate [FDemand, Practice Round , Veijo - Instructor Thy decisions as team's decisi 5 ave [
tot: 1 usa Asia Europe
ota Total demand last round (t pos) 4,906 2,026 2,966
market Fredicted market growth () > 10.0]% | 25.0)% | 15.0]%
growth
fOI' eaCh (Market shares are based on the total dernand of one market, they are not calculated Fer technoiogy s &3 |
market Market Share st Round This Round Deiidid Total Market Shares @
area. o
USh Byand 1 ITechnoIog_l,l1 vI 0% 55.0|% 2,968 Last Round  This Round
1] usa 50.0% 55.0%
R rand 1 Technolog 1 % 50.0% 55.0|% 1,393
1] Asia 50.0% 55.0%
— | Technolagy 1 v | w 1,676
u] Europe 50.0% 55.0%
A A 5 5
These Network Coverage Rorecasts for Different Technologiés i@ 257 257
. . Us i Asia Europe
pictures give )
indication 00% [ e [ 100% [ [ - 100% [ [ [ e
bout how s0% 7 50% e e 0% 7 e
a_ L/ / i L1 10% / 1 =
different a0h /] ) efise / 7 £03 P3Y%
technologies  |*** N / 0% s “o% ) 159
20% P e L 20% 1 1 z0%
are et a
. . 0% 0 12 34567 59 101112 0% 0 112 34 56 7 5 9 101112 0% 0 12 34567389 101112
developlng m Rounds Rounds Rounds
eaCh market B - Techrology 1 [ - Techinology 2 M - Technology 3 B0 - Technology 4
area. _ ¥
2. Here I choose which 3. Here I estimate market shares for When I have estimated total market growth
technology products I sell in each each of my products. Notice that the and my market share, these figures tell me
area. Maximum number of market shares are estimated per the expected demand in each area. I need
products in each area is two. In market area, not per technology. Since to remember that these are only based on
the beginning I can only sell we have only two teams, the previous my estimations; the final figures will
technology 1 products since other round market share is 50%. In this depend on how well I succeed in my
technologies are not ready yet. example [ have estimated that I can decisions relative to my competitors.
(see R&D about new product take some market share from my (See next page introduction to total market
development) competitor (+5%). and market share.)

Remember that after each input you need to press ”Calculate” or [Enter]| to update the
figures.
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Demand, total market and market share

Demand for a team is determined in three steps. First, the total market size for each market area is
calculated. Market outlooks provide a rather good forecast of what is going to happen in the future.

The next step is to split the total market demand into different technologies. Here, the main factors
are the average price level of each technology, network coverage, technology attractiveness
(typically, new technology is four times more attractive than the old technology) and the number of
products available in the market (see figure below). While the network coverage increases, the sales
of that technology increase.

After this, the market shares for each company are determined. The factors affecting the market
shares are product features, price, promotion and previous round market share.

Total Market Demand For Technology

Factors
affecting the
demand of
each
technology:

- Technology
price level

- Number of
products in
each
technology

- Network
coverage

- Technology
attractiveness

Factors affecting the market share

Factors affecting the total market
of one company:

size:

- Price

- Promotion

- Product features

- Previous round market share

- Economical conditions
- Average price level
- Technological evolution

In the beginning everyone has the same market share, but as soon as you start making decisions, the
market shares start changing. The picture below illustrates an imaginary situation with four different
teams.

Market shares:

- Team Yellow 30%

- Team Purple 15%

- Team Blue 22% Tech 1
- Team Green 33% 25 %
(Team Green market

share is further split 15 % Tech 2
into two technologies) 8%
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3. Production

Global allocation of production is an important success factor in this simulation. You have two
production areas that you can use to supply to three market areas and in the long run it becomes
important to have a solid production strategy. There are no finished good inventories in this
simulation. If you over-estimate your demand and make too high production decisions, the
production will be cut automatically. There is an additional cost if production needs to be adjusted
during the round. Note that your production will not be increased if you have decided too low
capacity utilization. In that situation you will have lost sales.
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|Pr0ducti0n Planning Investrments

—Production Planning, Practice Round , Veijo - Instructor  save all my decisions as team's decision set =00 —

Estimated  Total Products Gloha_l Glohal_ ;
Demand Available Production Outsourcing Motice:
(t pcs) {tpcs) Targets Targets Real production differs from production target if
(t pcs) {t pcs) production target is higher than demand,

Technology 1 6,237 6,270 5,270 o

Production Decisions “‘-}

usa

Capacity allocation . ” Capacity Real production Capacity
nit qost (USD) Scrap % (tpcs) @ (tpcs) @ utilisation @

Product line 1 @ | Technology 1 v || 95 %, 74 1.42% 6,600 6,237 S

Asia

Mot available in this rou

Outsourcing Decisions @

usa

. Real out: i
Amount {t pos) Cost (USDAunit) Max (t pRs) ea(to:c::?gcmg

Technology 1 | 127,34 il

Asia
1. Here I choose which technology I Here I can decide how much of Model automatically
produce in each production line and how my production I want to calculates the unit cost (see v
much of the production line capacity 1 outsource. There is a limit as to introduction to production
allocate to each product. In the beginning I how much I can outsource during costs on the next page). Scrap
have production facilities only in the USA. each round. Outsourcing cost is —rate depends on the capacity
In this example I allocate 95% of my USA also given here. I decided not to utilisation rate and also on
capacity to Tech 1 since I don’t have any do any outsourcing this round the maturity of each
other technologies available yet. That since I have enough own capacity technology in production.
seems to be well enough to satisfy my and outsourcing cost/unit is rather
estimated demand. high.

Food for thought

When you are deciding whether you should “play safe” and overestimate your capacity need in order for you not to
have lost sales or whether you should “run a tight ship” without any excess capacity you need to compare between the
opportunity cost of lost sales and the cost of extra capacity. Opportunity cost for lost sales is equal to the lost sales
margin for each product that you do not sell and the cost of extra capacity equals the cost for having to cut the
production during the round plus the depreciation and finance cost for the production plant.
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Production costs
The factors affecting the production costs are the following.

Basic cost level in the production area

Production cost function (U-shaped function of capacity utilization rate, too few or too much production
is not favourable.)

e Learning curve effect.

e  Penalty for having too high production target. This happens if you have over-estimated your demand
and your production need to be reduced during the period.

Basic cost level indicates the cost for producing the first unit of the new technology. Due to lower initial
employee skills/efficiency, the basic cost is higher in Asia than it is in the US.

U-shaped cost curve can be seen below.

U-shaped cost curve

118

!
115
.14 'I
1.1z |II
Cost i1 "I
Factor ,u'l
108
108 f,‘lf
104
1402 /
i ﬁ"‘“—*—r-""ff
098 T T T T T
0% o5 1% 50 % 0% 100 % 120 %

Capacity utili=ation

Learning curve effect is a significant factor affecting the production costs. The X-axis represents the cumulative
GLOBAL production of certain technology. Notice that you can first produce products in USA and then start
producing in Asia when the learning curve has reached a certain level. In short, it is possible to utilize the
learning effect globally.

P roduction unit cost

350

300

250

\
200 \\\ —_—llsa
) \\ —Asia
\

Cost (4}

o T T T T T T T
Q 000 10000 15000 20000 25000 30000 35000 40000

Cumulative producion (€ unltsy
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4. Investments
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“rour team's latest decisions are saved by Veijo - Instructor.

‘ Production Planning ‘

Investrments

Investments, Practice Round , Veijo - . . .
Save all my decisions as team’'s decision set
1. Here my ~Instructor -
ﬁrst task iS to Demand estimates — —
estimate Capacity of ane plant {t pes) S50 * 580
h d after th
global Last round(-1) | This m.y(ﬁr Next round(1) |Roind ofter the
demand fOI‘ F1es 7 Demand (f pesy z; 6,237|| 7100](| 8800] t pes
th t t Capacity (t pes) &,050 &00 7,150 9,350 t
€ next two —
rounds Number of plants ush 11 1z 13 13 Based on my
. Asia i i 0 4
future growth
Future | — .
rojections Plantsy o e el usa r— j‘ expectations I
Pl == = have decided to
are 1mp0rtant Investment payment (t USD]  USA ~—140.000] 0 . .
because it Asia 0 640,000 invest into four
; ; new production
Capacity Planning
taeli‘?(s)(;:;wtov\/o i D - Sales / Dernand (t pes) C - Capacity (t pos) faCilitieS in
p | Asia. They will
c?ﬁi:&igew renee be available for
?acilities 12000 production two
' periods from
8000
now and I have
ﬂ:ﬂ v period from
0 one period from
D c D [ D [3 D [ .
Round -1 Round 0 Round 1 Round 2 now (mlddle of
- i the investment
cycle).
A

Round: Practice round Time left to the deadline: 4 d 6 h 13 min

This picture helps me to visualise the relationship between my
estimated demand (D) and capacity (C).

Food for thought

When you make a plant investment you are committing a substantial amount of money into a long-term investment. You
need to make sure that you can pay for the investment with the revenue that you are making from it. We can try this
calculation: price of the plant is 160 mUSD, economical life of the plant is about seven years and plant capacity is 550
thousand units. We assume that you can sell your products in the future at about the same real price as you are doing
currently in the US, about 300 USD. We also assume that your average operating profit before depreciation (all
operating costs except plant depreciation are deducted from the sales revenue) remains at about 35% level. When you
multiply the annual plant production capacity (We assume that you can use the plant at an average 90% utilization
rate) by the expected margin per product you get about 52 mUSD (550 tUnits x 90% x 300 USD x 35%) operating
profit before depreciation. From this money you will need to pay for the depreciation and financing costs of the plant.
Here depreciation is calculated as 15% depreciation on declining balance. This gives you a depreciation of about 24
mUSD for the first year of operations. (declining balance emphasizes the first years over the last ones, which is
reasonable in this kind of high-technology business environment). After depreciation you have 28 mUSD left to cover
for financing and investor risk. A widely used measure for investment evaluation is ROI, return on investment, which is
calculated as Operating profit (Earnings before interest and taxes, EBIT) divided by the size of the investment. In this
case you get an expected ROI of 18% on your investment (28/160). This is not extremely high, but it should be enough
to satisfy our investors in the current situation. You can try to test how ROI will change if the average price of the
product erodes to 250 USD and your Operating profit before depreciation —margin remains the same. (Result is about
12% ROI)
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5. Logistics
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—Logistics, Practice Round , Veijo - Instructor

Save all my decisions as team's decision set | = —

Priorities @ Products Available in: @
usa Asia ur USA
From USA 1 v 2 [ 3 Technology 1
%Tin\ Mo iterns to transport from fsia Mors |-+ Manufactured in USA 2,958 tpcs
—|— Manufactured in Asia a tpos
Transfer prices in relation to your unit costs. Must be in range of 1 Total available 2,968 tpes
2. E.g. if decision is 1.5 then transfer price is 1.5 imes the unit Dernand 2,968 t pos
_ wocn@) AL
_ Technology 1
USdzsabisla 1.30 |- Manufactured in USA 1,393 tpos
USha--=Eurap [_130- ——+ Manufactured in Asia a tpos
X Total available 1,393 t pos
Asia-->lsa Dernand 1,393 tpos
Asia--=Europe Europe
Production and Outsourcing Total in USA @ , Technology: 1
|— Manufactured in USA 1,876 t pos
Technology 1 6,237 tpos M |~ Manufactured in Asia 0 t pos
Total available 1,876 t pos
Capacity utilisation in USA 94 % Dermand 1,876 t pes

Production and Outsourcinlg Total in Asia

Capacity utilisation in Asia

With transfer pricing I can
adjust my profits between
different units. Here I chose to
charge Asia and Europe 1,3
times the variable production
cost. With this margin I cover
for example R&D and other
fixed costs. Those costs show
as an expense in the US parent
company and with transfer
pricing I can make other
business units to participate in
those costs. This can also be
used to benefit from different
tax rates between countries.

Here I can choose in which
order I will satisfy my demand
in the markets. In this example
I chose 1, 2, 3, meaning that
first I deliver to US, then to
Asia, and third to Europe. This
decision is only relevant if my
global supply is not enough to
satisfy my global demand. In
such a case, first I will cut
supplies from third market
(Europe), then second market
(Asia) and last the US.

In this block I can see where my
products are made and where they
are expected to be sold.

Food for thought

When you set the delivery priorities you should attempt to maximize your total margin from the products. This can be
achieved by prioritising those markets where unit margins are the highest. In other words, if you run out of supply, you

want to make sure that it happens in the market where your unit margin is the lowest.
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6. Marketing

On this page you decide your marketing mix, namely, product, price, promotion. These decisions
will need to be made for each product and market area. Since you have only one product (based on
Techl) in each market in the beginning, you need to make these decisions for one product only in
each area. As soon as you have more than one product, you will make the decisions for both
products separately. It is important to keep in mind that the success of your marketing mix will be
determined by the markets. Customers are comparing between different alternatives and making
their purchase decisions accordingly.
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Decisions Results Schedule/Tasks Readings Communications

Instructions Decision Checklist Market Conditions Demand ‘ Marketing Production Logistics R&D Finance

Budgets l;

‘ uss | fsia Europe

—Technology 1, Practice Round , Veijo - Instructor -

First decision I make is to
decide the number of
features for the product.
When I make this decision,
I need to take into account
that customers in different
markets react differently to
the product features. In
some markets customers
are willing to pay for the
features, and in some
markets they prefer basic
device with lower price. |
believe that consumers in
Asia are appreciative about
product features and I set
the number of features to
three (two last year).

Product Characteristics

Save all my decisions as team's decision set

Features

ThjeRound Last Round

Marketing

Price {TEM)
Promation (t YEN)

Estimated demand {t pes)
Unit cost (YEM)

This Round LaX Rognd

Price and

[ 25500 3,000

[ Ssoo0

485,000

Last Round
1,393 Elh
17,526.21

promotion
decisions are set
here.

Margin calculation ¢t USD)

Sales revenue

- Production and outsourcing
- Cost of imported products
- Logistics costs

- Feature costs

Total costs of units sold
Sales margin

Prormation (t USD)

Gross Margin

284,082
0
142,333
27,551
25,066
195,250
86,532
4,400
84,432

As soon as [ have
decided about
product, pricing,
and promotion, |
can see my
budgeted financial

Products Available (t pes)

outcome here.

Manufactured in USA
Manufactured in Asia
Total available
Dernand

1,393

1,393
1,393

Here I can also

see where my
products are
coming from.

Round: Practice round

Food for thought

Time left to the deadline: 4 d 6 h 30 min

When you make your promotion decision (advertising), you should look at the sales margin that you can generate from
that product in that market. Usually it is reasonable to “over-spend” in the beginning when you are launching a new
product. However, in the medium-term you must be able to pay all your advertising for the product with the sales
margin that the product brings in.
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7. Research and Development
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Research & Development, Practice —
2l Save all my decisions as team's decision set [
—Round , Veijo - Instructor —
Production Capability @
YoMeuelopment "
Money needed = When the
This Round Last round to be able to baI' reaches
(tusp) (t UsD) produce a new .
feature (t USD) the top line
Technology 1 i 5000 g0,000 52,271 \ lt means
Technology 2 | 214000 50,000 386,158 that the
Technology 3 I i} 922,001 technology
Technology 4 | : 1 2 3 4 is ready for
Technologies .
production.
Product Features Available @
5
Buying Technology Licences g Cost (t USD) 4
Technology 1 v 3
Technology 2 | w 2
Technology 3 M 1
\Qnology 4 P> 0 - 2. - - L
bl Ul Technologies
M - This Round
B - Hext Round
w
In these cells I make decisions about my own R&D I can complement my own R&D by
investments into each technology. The model tells me how buying know-how from outside if a
much I need invest in order to get new technology or new good opportunity arises. This is a
feature for existing technology. During this round I decided typical make-or-buy decision where
to invest SmUSD into Tech 1 and that is enough to give me I need to compare the economical
one new feature for next round. In addition, I decided to outcomes of both alternatives.

invest 214mUSD into the development of Tech2 and that
was enough to give me basic product for second technology.
I need to keep in mind that all results from my R&D
investments are available with one period delay.

Food for thought

R&D investments are very strategic in nature and it is difficult to apply any exact investment calculation method on
those. Even at best, those calculations include heavy assumptions and uncertainties. However, at least when you
consider investments into new product features, you need think whether your clients will be ready to pay for the
additional features. Following your competitor is not the best alternative, since they can go wrong with their
investments. First you must understand your customers.
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8. Finance

Finance decisions are typically the last set of decisions that you are making. All financial market
transactions are managed through the parent company. You decide about dividend payments,
increases/decreases in long-term loans, and share issues and buy-backs. This simulation also gives

you the possibility to transfer funds between different countries (International Treasury

Management). Internal transfers you want to utilize if you have accumulated substantial cash
reserves in Asia or Europe that can be repatriated and distributed to the owners, or you need to

finance some plant investments in Asia.
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Tour team's latest decisions are saved by Veijo - Instructor,

—Finance, Practice Round , Veijo - Instructor save all my decisions as team’s decision set -
Parent Company Financing Decisions (t USD} Parent Company's Cash Flow Statement {t USD)
Long-term debt Cash Provided by Operating Activities
Increase f Decrease of Long-Term Debt EBITDA 383,776
Interest rate for long-term debt USA et financing expenses (-} 23,079
Asia come taxes 82,065
Europe 278,632
PlAnt investments 140,000
Murnber of shares outstanding (t Shares) 30,000 CASH FLOW BEFORE FINANCING ACTIVITIES 138,632
Share Issue (t Shares) Cash Provided by Financing Activities
Issue price (USD) Divjdends 20,000
Share Buyback (t Shares) Prgceeds from equity issues and buybacks -310,586
Buyback price (USD) 207 CHange in lang-term debt {iner + # decr -) a
Clange in short-term debt {incr + / decr =) n
Dividends ange in internal loans a
-330,586
Short-term debt last round Change in Cash and Cash Equivalents -191,954
Mew short-term loans taken Cash (beginning of year/ round) 323,621
Payback of short-term lnans Cash (end of year/ round) 131,867
Prermiurn for short-term debt Internal loans
USA-=Asia [+); Asia->USA (-) |
USa-=Europe (+); Europe-=USA (-} l—
In this plcture I 10:;9:“, and Liabilities {Global) SZZt:;gzjnnal Treasury Management k
can see the s o Here I can
capital structure 700% e transfer funds
&0.0%
of my company. | e e between
. 40.0% 224,000.00 dff
30.0%
It is reasonable ifferent
20.0% 112,000.00 :
to try to keep oo . - countries.
: 1 0.0 Last Round This Round 0.00 m a E Picture on the
approximately sa sia urope
equal amount of I - Long-term debt B oo left tells the
. [ ] short term debt B - Local debt 'tu t. At
debt and equity B ety Situation.
on my balance the moment
sheet. there does not
seem to be
Here I can make the finance decisions. I have decided to pay 20 much need
mUSD in dividends, and at the same time [ have decided to buy for internal
back some shares. The reason for buying back shares was that my transfers.

solvency is at a high level and I have quite substantial cash
resources. I will need money for my plant investments in Asia next
year, but at that time I hope that my share price has increased and I
can sell the shares back to the market with profit. Alternatively |
can finance the plant investment with some new long-term loans
next year.

Food for thought

The reason why you should keep approximately equal amount of equity and debt on your balance sheet is that by doing
it you minimize your cost of capital. The smaller the cost of capital, the higher is the net present value of all your

company’s future cash flows, thus higher the market value of your company.
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Budgets

The budget pages update continuously as you make decisions. Here you can follow profitability for
the group as a whole and for each area separately. Last round actual figures are presented in the
right-hand side column. We will return to these pages with analysis and interpretation during the
simulation rounds. At this stage you should just aim to as high profit for the year as possible,
without sacrificing your future growth potential. That will lead to favorable share price
development and happy investors!

Picture 1: Profit and loss statement
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| Graup USA Asia Eurape
‘ Profit & Loss Balance Sheets |

vour team's latest decisions are saved by Weijo - Instructor.

Profit & Loss, Practice Round , Veijo -

Sawve all my decisions as team's decision set |

—Instructor =
This round {t USD) Last round {t USD)
Turnover 1,466,301 1,212,822
Costs and Expenses
Wariable production costs 490,369 348,107
Feature costs 65,389 58,050
Qutsourcing costs o 31,218
Transportation 50,363 35,821
R&D 219,000 130,000
Adwvertising 34,720 30,960
Administration 95,602 95,857
Costs and Expenses Total 958,643 730,013
OPERATING PROFIT BEFORE DEPR. {(EBITDA) 507,658 482,809
Depreciation from fixed assets 126,225 148,500
OPERATING PROFIT {EBIT) 381,433 334,309
Met financing expenses 20,133 23,097
PROFIT BEFORE TAXES 361,300 311,212
Income taxes 108,658 105,109
PROFIT FOR THE YEAR 252,642 206,103

Notes to the Profit and Loss statement:

In this simulation all R&D and marketing (advertising) costs are expensed on the profit and loss
statement during the year the investment are made. Even though those are long-term investments in
nature, they are also rather risky investments with uncertain payback. Following the conservative
approach in bookkeeping, we have decided to expense those investments immediately. As a
consequence from this, profit for the year may fluctuate depending on the intensiveness of R&D
and marketing investments. You should always plan your R&D and marketing investments
carefully. It is easy to lose substantial amounts of money with careless R&D and marketing
investments.

R&D is considered to take place in the area(s) where you have production plants. IL.e., if you have
production plants only in the US, all your R&D shows in the USA P&L statement. When you have
production in Asia also, R&D will be split between the countries relative to the number of
production facilities. You can use transfer pricing to roll R&D costs to other areas (Asia, Europe).
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Picture 2: Balance sheet
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Your team's latest decisions are saved by Veijo - Instructor,

Balance Sheet, Practice Round , Veijo - B o
Save all my decisions as team's decision set |1

—Instructor -
ASSETS This Round {t USD}) Last Round (t USD}
Fixed assets 855,275 41,500
Cash and cash equivalents 280,884 372,603
Total Assets 1,136,159 1,214,103
SHAREHOLDERS' EQUITY AND LIABILITIES
Equity
Share capital 325,000 340,000
Other restricted equity -295,586 u]
Profit for the yvear 252,642 206,103
Profits from previous years 347,103 161,000
Total Equity 629,159 707,103
Liabilities
Long term loans 507,000 507,000
Short term loans {unplanned) i o
Total Liabilities 507,000 507,000
Total Shareholders' Equity and Liabilities 1,136,152 1,214,103

Round: Practice round Time left to the deadline: 3 d 21 h 54 min 2
Account: Veijo - Instructor Your local time: 23:10

Notes to the balance sheet

Asset side includes currently only fixed assets and cash & cash equivalents. Cash adjusts
automatically if the company has excess cash available, i.e., money that is not used in investments
or financial transactions (loan repayment, equity buyback, dividend payment).

Other restricted equity in this simulation indicates the difference between share issue/share buyback
price and the nominal value of the share (10 USD). Since I have made a buyback of 1,5 million
shares at an approximate average price of 207 USD, my restricted equity shows approximately
—295500 thousand USD, which is calculated as (207 —10) x 1500000.

Short-term loans are taken automatically if the company does not have enough liquidity to run the
operations.

Food for thought

Since your goal in the simulation is to maximize the shareholder value, you should pay attention to the balance sheet as
well. Smaller balance sheet is better than bigger balance sheet. If you can generate the same profit with smaller
balance sheet you have utilized your assets effectively and thus well managed the funds that your investors have given
for you to manage.
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